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khfhzf;fy;tpj; jpizf;fsk; 
tlf;F khfhzk;  

%d;whk; jtizg; guPl;ir- 2018 
tzpff;fy;tpAk; fzf;fPLk; - juk; 10 

 gFjp 1 tpilfs; 
 

1. 3  11. 3  21. 3  31. 4 
2. 4  12. 1  22. 1  32. 1 
3. 2  13. 4  23. 2  33. 3 
4. 1  14. 2  24. 1  34. 2 
5. 2  15. 1  25. 2  35. 4   
6. 1  16. 3  26. 3  36. 1 
7. 2  17. 1  27. 4  37. 3 
8. 4  18. 2  28. 3  38. 1 
9. 2  19. 2  29. 1  39. 4 
10. 1  20. 4  30. 2  40. 3 

 

     
gFjp 11 tpilfs; 

tpdh ,y 01 
(1) (m) Nff; Irpq; njhlu;ghf bg;Nshkh fw;ifnewpapid G+u;j;jp nra;jik  

    tpj;jpahrkhf tbtikf;Fk; jpwd;   (2×1/2=01 Gs;sp) 
(M) gpwe;jehs;> jpUkz itgtq;fis nfhz;lhLNthu;    (01 Gs;sp) 

(2) 1. ,yFthf Muk;gpj;jy; 
2. midj;J ,yhgq;fSk; cupikahsUf;F 
3. ,ufrpak; ghJfhf;fg;gly; 
4. jpwikia cr;rkhfg; gad;gLj;jy; 
5. Rje;jpukhd jPu;khdk;             (2×1=02 Gs;sp) 

(3) (m) czT     (01 Gs;sp) 
(M) tzpfj;jpl;lk;     (01 Gs;sp) 

(4) (m) gq;Filik tzpfk;     (01 Gs;sp) 
(M) 1. mjpf %yjdk; jpul;ly; 
    2. ,yFtpy; Muk;gpj;jy; 
    3. gy;NtW jpwd;fis gad;gLj;j Kbjy; 
    4. nghWg;Gf;fis gq;fhsu;fsplk; gfpu Kbjy; 
    5. $l;lhf jPu;khdnkLj;jy;    (2×1/2=01 Gs;sp) 

(5) nrhj;J = cupik + nghWg;G 
100000   100000   (02 Gs;spfs;) 

(6) (m) ,ae;jpuq;fs;> cgfuzq;fs;  (01 Gs;sp) 
(M) tq;fpf;fld;    (01 Gs;sp) 

(7) nghJehl;Fwpg;NgL   (01 Gs;sp) 
,ae;jpu> cgfuzf; nfhs;tdTf; fzf;F tuT  & 40000 
   tUz; fk;gdpf; fzf;F nryT     nryT         & 40000 
 (njhif Fwpg;gplg;gly; Ntz;Lk;)    (01 Gs;sp) 

(8) fhRf; fzf;F tuT & 30000 
   tq;fpf;fld; fzf;F & 30000 (njhif Fwpg;gplg;gly; Ntz;Lk;)         (02 Gs;spfs;) 

(9) & 75000      (02 Gs;spfs;) 
(10) & 193000      (02 Gs;spfs;) 

      
     (2×10=20 Gs;spfs;) 
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tpdh ,y 02 
1. (m) nghUs; cw;gj;jp tzpfk;> Nrit cw;gj;jp tzpfk;  (01 Gs;sp) 

(M) nghUj;jkhd cjhuzk; ,uz;bw;F  (2×1/2=01 Gs;sp) 

2.  i)  √  ii) ×                   iii)  ×                  iv)    √   (4×½= 2  Gs;spfs;) 
3. epyk;:- kuk; 

ciog;G:- ku Ntiy nra;Ak; njhopyhsp 
%yjdk;:- ku Ntiy nra;tjw;fhd cgfuzq;fs; 
Kaw;rp:- fhaj;jpup jsghl cw;gj;jp epiya cupikahsu;    (4×1/2=02 Gs;sp) 

4. (m) jdpAupik tzpfk;     (½ Gs;sp)  
(M) ,y;iy     (½ Gs;sp) 
 jdpAilik tzpfkhdJ rl;lj;jpd; Kd;dhy; jdpkdpjdhf fUjg;gl khl;lhJ. ,jdhy; 
jdpAilik tzpfj;jpd; ngauhy; rl;l eltbf;iffis Nkw;nfhs;s KbahJ. cupikahsupd; 
jdpg;gl;l ngau;fspNyNa rl;l eltbf;iffSf;F Kfk; nfhLf;f NeupLk;. (01 Gs;sp) 
               (nkhj;jk; 08 Gs;spfs;) 

tpdh ,y 03 
1. (1) nghUshjhu #oy;:- tUkhdg;guk;gy;> Nrkpg;G 

(2) murpay; #oy;:- murpdJ epiyg;Gj; jd;ik> tuTnryTj;jpl;lf; nfhs;iffs; 
(3) rl;lr;#oy;:- 2003 Mk; Mz;L 9 Mk; ,yf;f ghtidahsu; mYty;fs; mjpfhurigr; rl;lk;. 
      2007 Mk; Mz;L 7 Mk; ,yf;f fk;gdpr; rl;lk; 
(4) njhopy;El;gr; #oy;:- eNdh njhopy;El;gk;> b[pl;ly; njhopy;El;gk;        (4×½= 2  Gs;spfs;) 

2. i)  ×  ii)    √                  iii)  √                    iv)   ×    (4×½= 2  Gs;spfs;) 
3. (m) KjyPl;Lf;fhd ghJfhg;G> NghJkhd ,yhgk; cioj;jy;> vjpu;fhy Kd;Ndw;wk; (01 Gs;sp) 

(M) cupikahsu;> Kfhikahsu;> Copau;fs;> toq;Feu;fs;> muR      (01 Gs;sp) 
4. (m) gpujhd efupd; Ng&e;J jupg;gplj;jpw;F mz;ikapy; fhzg;gly;       (01 Gs;sp) 

(M)ghdtiffis toq;Fk; NtW tzpfq;fs; mUfpy; fhzg;gly;> %ypiffis ngw;Wf;nfhs;tjpy;  
   vjpu;nfhs;sf; $ba rthy;fs;            (01Gs;sp)  
               (nkhj;jk; 08 Gs;spfs;) 
 

tpdh ,y 04 
1. (m) cupik> Nehf;fk;> gUkd;   (2×1/2=01 Gs;sp) 

(M) $l;LwT mikg;Gf;fs;> rq;f tif mikg;Gfs;  (2×1/2=01 Gs;sp) 

2. i) √                 ii)   ×                    iii)  ×                       iv)   ×               (4×½= 2  Gs;spfs;) 

3. (m) A, C 
(M) B, D 

4. (m) 1. [dehaf epUthfk;                   2. mq;fj;jtu; eyd; fUJjy; 
      kpif mq;fj;jtupilNa gfpug;gly;            (2×1/2=01 Gs;sp) 
(M) milahsnkhd;W fpilj;jy;> cupikapid cWjpg;gLj;jf; $bajhftpUj;jy; 
    mur Cf;Ftpg;Gf;fis ngwKbjy;> fld;fis ngwKbjy;       (2×1/2=01 Gs;sp) 
         (nkhj;jk; 08 Gs;spfs;) 

tpdh ,y 05  
1. (m) tzpfnkhd;Wf;Fk; NtW gputpdu;fSf;FkpilNa eilngWk; tsq;fspd; ifkhw;wk; (01Gs;sp) 

(M) nrhj;Jf;fs;> nghWg;Gf;fs;> cupikahz;ik> tUkhdq;fSk; nrytpdq;fSk;   (01Gs;sp) 
2. nrhj;Jf; fzf;F:- fld;gl;Nlhu;> ,ae;jpuf; fzf;F 

nghWg;Gf; fzf;F:- tq;fpf;fld;> fld;nfhLj;Njhu; fzf;F 
nrytpdf; fzf;F:- rk;gsk;> fhg;GWjpf; fl;lzk; 
cupikf; fzf;F:- gw;W> %yjdf; fzf;F            (4×1/2=02 Gs;sp) 

3. fl;blf; fzf;F:- mjpfupj;jy; tuT> Fiwjy; nryT 
kpd;rhuf; fzf;F:- mjpfupj;jy; tuT> Fiwjy; nryT 
ngw;w thlif:- mjpfupj;jy; nryT> Fiwjy; tuT 
fld;nfhLj;Njhu;:- mjpfupj;jy; nryT> Fiwjy; tuT    (4×1/2=02 Gs;sp) 
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4. nrhj;J   =      cupik         +       nghWg;G 
+ 100000     + 100000 

+  50000                                            +     50000 

+  10000                                         +      10000 

- 5000         -       5000      (4×1/2=02 Gs;sp) 
        (nkhj;jk; 12 Gs;spfs;) 

tpdh ,y 06  
1. (m) tzpfUf;F ahjhapDnkhU Kiwapy; fhR fpilf;Fkplj;J mf;fhRg; ngWtdit cWjpg;gLj;jp 

tzpfj;jpdhy; fhR nfhLj;j egUf;F nfhLf;Fk; Mjhuk;         (01 Gs;sp) 
(M) cupikahsuJ %yjdk;> fhR tpw;gidfs;> fld;gl;NlhuplkpUe;J ngw;w fhR> fldhf ngWk; 
fhR> thlif> tl;b> juF Nghd;w tUkhdq;fs; %yk; ngwg;gl;l fhR     (2×1/2=01 Gs;sp) 

2. (m) Fkzd; fzf;F tuT & 10 000 
      tpw;gidf; fzf;F nryT     & 10 000      (01 Gs;sp) 
(M) tq;fpf; fzf;F  tuT & 20 000 
      tpkyh fzf;F nryT        & 20 000     (01 Gs;sp) 

3.  
             rpy;yiwf; fhNrL   (½ Gs;sp) 

ngWtdT Ng, jpfjp tpguk; if.,y nkhj;jk; mQ;ry;  
nryT 

ehdhtpj  
nryT 

gpuahz 
nryT  

cgru
iz 

NgNul 
fzf; 

N
g.
g 

½  400 

½    1600 
 
 
 
 
 
 
 

2000 
½    1000 

 01.04 
01.04 
01.04 
04.04 
07.04 
11.04 
13.04 
 
15.04 
 
16.04 

kPjp 
fhR 
Rj;jpfupg;Gr; nryT 
cgruizr; nryT 
Ml;Nlh nryT 
utpf;F nfhLj;jJ 
jghy; fl;lzk; 
 
kP.fP.nfh.nr 
 
kP.fP.nfh.t 

  
 

200 
150 

01 250 
300 
100 

½   1000 

½   1000 
2000 

 

 
 
 
 
 
 
100 
100 

 
 
200 
 
 
 
 
200 

 
 
 
 
250 
 
 
250 

 
 
 
150 
 
 
 
150 

 
 
 
 
 
300 
 
300 
 

 
 

  
          (04 Gs;spfs;) 
 

4.             nfhs;tdT ehl;Fwpg;G  ½ Gs;sp 
 

 
 tpky; fzf;F  tUz; fzf;F 

                   01.06 nfhs;tdT   24000 ½                      10.06 nfhs;tdT 32000 ½ 
  
   tdpjh fzf;F                             nfhs;tdTf; fzf;F 
 16.06 nfhs;tdT   14000  ½      30.06 fld;nfhL ½  94000 
        25.06 nfhs;tdT   24000 
      (04 Gs;spfs;) 

      (nkhj;jk; 12 Gs;spfs;) 

jpfjp gl;bay; 
,y 

toq;Feu; nkhj;jg; 
ngWkjp 

Ng.g 

2018.06.01 
2018.06.10 
2018.06.16 
2018.06.25 
2018.06.30 

230 
245 
 50 
 67 

tpky; 
tUz; 
tdpjh 
tdpjh 
nfhs;tdT fzf;fpw;F khw;wpaJ ½ 

24000 
½        32000 

14000 
24000 

½        94000 
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tpdh ,y 07 
1. (m) 1. tq;fpf; fzf;fpy; cs;s kPjpia mwpa Kbjy; 

    2. tq;fpf; $w;wpid ngw Kbjy; 
    3. kpd;rhuk;> ePu; gl;bay;fspd; nfhLg;gdTfis Nkw;nfhs;s Kbjy; 
    4. Xu; fzf;fpypUe;J ,d;ndhU fzf;fpw;F gzj;ij khw;w Kbjy; 
    5. fhNrhiy Gj;jfj;jpw;F tpz;zg;gpf;f Kbjy;             (2×1/2=01 Gs;sp) 
(M) tq;fp eilKiwf; fzf;fpy; jw;NghJ fhzg;gLk; kPjpapYk; ghu;f;ff; $Ljyhd njhiff;F 
fhNrhiyfs; toq;f eilKiwf; fzf;F thbf;ifahsUf;F mDkjpaspj;jy;   (01 Gs;sp) 

2.         jrujd; tzpfj;jpd; 
31.05.2018 Mk; jpfjpf;fhd guPl;ir kPjp  ½ Gs;sp 

 
 

 

 

 

 
 
 

           (02Gs;spfs;)  
3.                   (m)  tq;fpf;fzf;F(rPuhf;fg;gl;l) (½  Gs;sp) 

 

 
 (M)                    rpth tzpfj;jpd; 
 2018 khjj;jpw;fhd tq;fpf; fzf;fpzf;ff; $w;W  (½  Gs;sp) 

tpguk; njhif njhif 
rPuhf;fg;gl;l tq;fpkPjp 
$l;L:-  
tq;fpapy; rku;g;gpf;fg;glhj fhNrhiy (650) 
                             (985) 
 
fop:- 
Njwhj fhNrhiy (56) 
              (89)  
31.09.2018 Mk; jpfjpapyhd tq;fpf; $w;W kPjp 

 
 

½   7000 
4500 

 
 

½  5000 
6500 

12000 
 
 

11500 
23500 

 
 

(11500) 
½ 12000 

                   (04 Gs;spfs;) 
4. (m)      nghJ ehl;Fwpg;NgL   ½ 

jpfjp if.,y tpguk; Ng.g tuT nryT 
  njhq;fy; fzf;F 

 
tpw;gidf; fzf;F 
  fld;gl;Nlhu; fzf;F 

  
 

½    11000 
 

½    5000 
 
 

½  11000 

               njhq;fy; fzf;F 
      kP.fP.nfh.t    5000 kpd;rhuk;  5000 (01 Gs;sp) 
               

                  (01 Gs;sp)                    (04 Gs;spfs;)     (nkhj;jk;  12 Gs;spfs;) 

 tuT nryT 
fld;gl;Nlhu; 
tpw;gid 
nfhLj;jfopT 
tq;fp Nkyjpfg;gw;W 
%yjdk; 
fhg;GWjpf; fl;lzk; 
,ae;jpuk; 
rk;gsk; 

30000 
 

 3000 
01 Gs;sp 

 
 5000 
40000 
12000 

  90000 

 
35000 

 
½  5000 

50000 
 
 
 

90000 

jpfjp tpguk; Ng.g njhif jpfjp tpguk; Ng.g njhif 
 kP.fP.nfh.t  ½ 15000 

 
15000 

 fhg;GWjpf; fl;lzk; 
kP.fP.nfh.nr 

 ½   3000 

½  12000 
15000 


